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MARK SCHEME FORMAT 1

Section A
Question Answer/indicative content Mark Guidance
Content Levels of response
1 |a Translate lines 1-9 from Passage 1 (oi 5¢ 30 The passage has been divided [4] All or almost all of the meaning

ABnvaior ... EvAléEwvrar) into English.

into 7 sections each worth 4
marks. Award up to 4 marks per
translated section according to the
A-mark marking grid.

Also award a mark out of 2 for
fluency of English according to the
2-mark grid.

conveyed (as agreed at
standardisation)

[3] Most of the meaning conveyed

[2] Half of the meaning conveyed;
the rest seriously flawed

[1] Very little meaning conveyed,
or isolated words known

[0] No elements of meaning
conveyed; no relation to Greek at
all

N.B. Consequential errors should
not be penalised.

Marks for fluency of English
should be awarded as follows:

[2] Expressed fluently and
stylishly. Consistently successful
improvements on a literal
translation

[1] Occasional improvements on a
literal translation

[0] No or very little improvement
on a literal translation
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Lines 1-2

¢ \ 9 o~ \ \ \ ¢ \ bl
o1 8¢ AOnvaiot mpos UEV TO 1EPOV OVK
nAQov, Evvkouicavtes 58 To0s EQUTAV
vekpovs kal ém mopay émbévies, noAicavro
avTo.

Tne Ameviavo 1d yo 1o e teunde, fot
x0AAexTEd THE Podiec o tnep dead avd nut
TNEU OV O TYPE, AV EVYAUTES TNEPE.

Lines 2-3

~ e 14 -~ \ 4
M & LOTEPUIQ TOIS HEV ZVPAKOCLOLS
anédooav OVLOOTOVSoLS TOVS VEKPOUS

Tne veér Say ey yaoe Bayk to e
Zypoyvooavo tnep Sead, LVOEP A TPVYE,

Lines 3-4

kd Ié \ 2 - \ - 4 \
(ameBavov de avtwv kot oV Evpuaywv Tept
EEnkovTa Kol S1aKoGiovs),

(about 260 of them and their allies had been
killed),

iv

Lines 4-5

1@V 8¢ opstépmv ta dota Euvédebav, kal Ta
TV TOAEUIOV oKDAQ EYovies ansmAsvoay
és Karavnv.
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And collected the bones of their own men and
sailed away to Katane with the spoils of the

enemy.

vV | Lines 6-7

7 \ i \ \ 7’ b ’

XEWDV TE YA NV, KAl TOV TOAEUOV aUTOBeV
roigiofar obnw é50KkeL Suvartov givar
Dop 11 wac wivTep, avd 1T SIS VOT YWET OEEU
70 Pe moocoiffAe T0 YovOvYT TNE WOpP PpPou
EPE

vi | Lines 7-8

TPLV Qv ITTEAS UETATELYDOLY EK TOV
ABnvav kol éx oV avtobev Evuudyov,

until they had sent for cavalry from Athens and
from their allies there

vii

Lines 8-9

4 \ 4 ¢ -~ 3\

OT®S U1 TAVTATAOLY ITTOKPATOVTAL, KL
’ 2 ’ 7

xpnuata avutolev EvAieémvral.

so that they would not be wholly inferior with
regard to cavalry, and obtain money from there.

Bury their dead (1); hold an assembly (1).

Any valid points acceptable: for each point, 1
mark for quotation of Greek, 1 for sensible
comment. Points might include: parallel clauses
Kal s ... kol Katd ...  similar within kard
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clause, with dureipiq ¢ ikavos ... Avdpeiq
émgavs; chiastic structure here surrounding
yevousvos; avdpeiq émgavrs emphatic
because it is added on to the apparently
complete kai és TGAA ... Asimdusvos and kai
KOUTOL TOV TOAELOV ... YEVOUEVOS.

d Encourages them (1); tells them/will not allow
them (1) to give in (1) to what has happened
(1. ,

e Vote/decide to do (1) everything (1) [as] he has
ordered (1); elect (1) him [and some others] as
generals (1).

f i Future (1) participle (1).

il | Indicating purpose.
g |i anonAéwm

aipéopai
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The philosopher Thales once went out at night
to look at the sky, and while doing this, fell into
a well.

EENADE mote vuktos Galils 6 prAdcodos
OKEYOLEVOS TOV 0DPAVOV Koid TODTO TOLDY
&is Ppéap événeoey.

He could not get out, and was afraid that he
might die, so he shouted loudly for a long time.

a)g & 8Kﬁnval ov &)vaysvog, ¢oﬁovu8vog
U1 amoBavor, uéyo Kol LaKPOV Ypovov
éBoa.

Eventually a female slave heard him shouting,
and went to see what was happening.

Bodvios 5¢ tovrov axovoaoca télos SovAT
s npoonAfsv Swouévn 1a yryvousva.

She found Thales in the well, and asked him
what he was doing.

Oalnv év 1@ gpéan edpodoa, i 1 moroin
fipeTO

He told her, and she said that although he was
a phllosopher he was very stupid.

Kal SlﬂOVTOS TOU’L’OU

ginsv 6 pwpotaros £in, PrAdcodos Kainep
av.

vi

“You are a man”, she said, “and you ought to
look at the things on the earth.

The passage has been divided
into 8 sections each worth 5
marks. Award up to 5 marks per
translated section according to the
5-mark marking grid.

Award marks for style to a
maximum of 7. Of the remaining 3
marks, 2 are to be awarded for
breathings:

2 All correct, or one error
2 or 3 errors
0 More than 3 errors;

The other mark is for connecting
particles:

There are many acceptable ways
of translating the English
sentences into correct Greek.
One example for each sentence is
given. Acceptable alternatives will
be agreed at Standardisation, but
examiners should be ready to
accept other versions that
accurately render the meaning into
Greek.

[5] All or almost all correct (as
agreed at standardisation)

[4] Minor errors in accidence or
syntax

[3] More serious errors in
accidence or syntax

[2] Accidence/syntax seriously
faulty, but not without sense

[1] A very small proportion of
correct accidence/syntax

[0] No recognisable relation to the
English
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w Y \ 74 s W e\ \ ) ~ o~
avBpwnov yap ovia”, Egn, “ta usv v ™ ¥n
Sl okomELV. '

vii | The gods, who are wiser than you, will look
after what is in the heavens.”
ta & év ovpavd mpatovorv oi Hsot,
copateporL Svies 1) ov.”

viii | Saying this, she left Thales in the well and went

away laughing.

Tabto & siroboa kol OaAny év 1@ gpsan
katalimoboo, annibe yeAwoo.

11
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Section B
Question Answerl/indicative content Mark Guidance
Content Levels of response
3 |a How does Herodotus in this passage bring out the 25 Answers must be marked AO1=10
intelligence and persuasiveness of Themistocles? using the level descriptors in | Level5 9-10
the AO1 10-mark marking | Level4 6-8
Possible points: grid and the AO2 15-mark Level 3 4-5
marking grid at the end of the | Level2 2-3
Adeimantos’s jibe about év toiol aydor o mark scheme, taking into Level 1 0-1
nposéavicrausvor, Themistokles’s reply to it: Ot 6¢ ye account QWC when placing
éykaraleimopevor ob arepavovvrau. Note use of direct the answer within the band. Cg/il=51513 15
speech, here and later. Not every point made in the | Level4 9-12
) . mark scheme need be |Level3 6-8
Themistokles still cagey: covered, and credit should | Level2 3-5
T0T€ UEV Nws ... GpEYaTo, be given to valid points that | Level 1 0-2

npos SE OV Ez’)puﬂzdc‘)‘nv Eleye éxelvov puev ovkén
ou&:v 0V nporapcov Asxesvra)v

TOAPESVIOV YOP TOV CUULAY®V 00K EPepé Ol KOOUOV
oDSéva KaTnyopéety.

So aims his speech directly at Adeimantos: v goi vov
éon owoar v ‘EAAada; direct and evocative, appealing
both to Adeimantos’s vanity as well as to his patriotism.

fAiv éuotl neifn ... undé new@duevos tobrwv Toiot AGyoiot

.. repeated verb underlining what Adeimantos should and
should not do; then imperative in concise phrase: gvrifss
yap éxdrepov axodoas.

Themistokles’s strategy ... fighting where they are 7o
fioTa TPV oOuPopdv éont véas Eovar Baputépas kai
apifuov éldooovag; if they do and lose tobto 58
droléais Talauivd te kai Méyapa koi Alywvay,

aren't; but the passage
should receive reasonable
coverage overail.

12
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Question

Answer/Indicative content

Mark

Guidance

Content

Levels of response

whatever else happens 7jv nsp koi ta dAAa
EOTUYTICWUEV.

The most drastic result, if they lose here, will be dua 5¢ @
vavtik® adtdv éyetou xai 0 nelos owpards (reinforced by
the hyperbaton and the xai); and it will be Adeimantos’s
fault: ki oUtw ogéas avtos &éeis ém tnv Iedondvvnoov,
Kwvdvveboeis 1¢ anaon i ‘EAAas: (strongly placed).

13
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Question Answer/indicative content Mark Guidance
Content Levels of response
b How does Herodotus make his account of the | 25 |Answers mustbe marked AO1=10
adventures of Artemisia interesting and entertaining? using the level descriptors in | Level 5 9-10
the AO1 10-mark marking Level 4 6-8
We already know that Artemisia has got out of trouble by grid and the AO2 15-mark Level 3 4-5
sinking an allied ship, so we want to see what she does marll:mghgrldl attﬂl‘f en_dtof the Il:eve: 3 g‘?
next: sdtuyin ypnoouévn Simha Eovtny ayada mark scheme, taking Into eve )
s ¢ ~ ’ 7 account QWC when placing
gpyaoaro with dirAa separated from ayafa. the answer within the band. | AO2 = 15
Level 5 13-15
Since the Attic captain thinks she’s either Greek or a Not every point made in the Level4 9-12
deserter because of what she’s done, drootpéyas mpos mark scheme need be Level3 6-8
aidas érpdnero. covered, and credit should Level2 3-5
be given to valid points that Level1 0-2

Parallellism and variatio in the description of what she
does:

TODTO UEV rozofn'ov at’)rﬁ ovvnveiks yevéatar
5za¢uyazv € Kai ,un anoMoGal rouro 8¢ ovvépn dore
KQKOV spyaoauevnv ano tobtev adtv udliora

s0Sokutoar wopa ZpET.

Aéyevou (and similar distancing devices used in rest of
story ...

The King is watching on ka1 511 iva ginglv v
TOPESVTOV;

Direct speech Aéomota, opas "Aptsuioiny (perhaps
stressed a little by position) os sb dywvilerar ki véa
TOV TOAEUIOV KOTESLOE,

Xerxes' incredulity i gAnféws éoni Apteuioins 0 Zpyov:
they're sure it is cadéws 10 érionuov 1fis veos

aren’t; but the passage
should receive reasonable
coverage overall.

14
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Question

Answer/Indicative content

Mark

Guidance

Content

Levels of response

b I \ \ -~ 9 14 £
gmorauevovs” v 8¢ Sioglapeioay nmoTeaTo givol
moAguinv.

Another stroke of luck: 7a /,tgv yap dAra, a)s azpnraz
aum ovvnveks és sun)xmv yevoueva Kal 1o rcov éx
s Kaivvdikils veos undéva drnocmdévra karyopov
yevéobau.

Xerxes's famous bon mot: Oi ugv dvdpss yeyovaot pot
yovaixes, ai S yovaikes avopes, suitably provided with
‘balance and contrast’.

Tabta pev Eépénv gact (Herodotus still not convinced,
perhaps?) singiv

15
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Question Answer/indicative content Mark Guidance
Content Levels of response
4 |a How does Plato make what Protagoras is saying here Answers must be marked AO1=10
interesting and lively? using the level descriptors in | Level 5 9-10
th_e AO1 10-mark marking Level4 6-8
Zeus is worried that mankind may perish (which is quite a gnd;nd th? AQ2 15-mark Level 3 4-5
dramatic scenario) zav (strong position). Sends ‘Epunjv marking grid at the end of the | Level 2 2-3
. ] » y ; mark scheme, taking into Level1 0-1
(first word: Hermes, no less?) ayovta sis avBpomovs .
» oo \ wr SR account QWC when placing
a1do e kau Siknv (the key terms in this passage, the answer within the band. | AO2 =15
constantly repeated), 1V’ sigv nodewv kdouoL e Koi Level 5 13-15
deouol gihias cvvaywyoi (a graphic and memorable Not every point made in the | Level 4 9-12
phrase). mark scheme need be | Level3 6-8
covered, and credit should | Level2 3-5
be given to valid points that | Level 1 0-2

épwta o0V ‘Epuijs Ala tiva. o0V 1pdmov Soin Siknv koi
aid® (key terms again, with ‘giving’ verb, again reiterated:
also direct speech, with parts of véuw repeated...)
“IIotspov s ai Téyvar vevéunviou,

obrw (balance) xkoi tadtas veiluw;

vevéunvrai 5¢ ®des: (presumably Zeus knows this
anyway, but P has Hermes spell it out anyway).

o ” ? \ -~ ¢ \ ’ ’ \ 3
EIS EYOV LATOIKNV TOAAOLS IKAVOS 1O1dTOLS, KAL OL
dAdor ...

\ ’ \ \ ki -~ 14 —~ 2 -~ kd ’
Kot diknv 01 kat aidw ovtw Ow v tois avlipwrnots,
1 ém mavras veiuw,”

2 i 7 \ ’ )

Em ravras (taken up from Hermes) ... kat ravzss
ueteyoviwv (which now becomes a key word)* od yap v
yévorvto noAels, st OAlyor adTdV UETEYOLEY HOTEP

v - \ ’ \

aAdwv Teyvav: kal vouov ye Ogs and not only a law, but
one map’ &uob Tov un dvvduevov aidods koi Sikns
LIETEYELV KTEIVEIY @S VOoOV moAsws (very strongly

aren't; but the passage
should receive reasonable
coverage overall.

16
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Question

Answer/indicative content

Mark

Guidance

expressed).

oUtm 81 (to sum up): the Athenians’ practice is sensible
when they think
JAiyois (position) ofovran usteivou ovuBovAis (recurrent
term now),

\ 4 2 \ n -~ 2 ’ ’ ki
KOl €0V TIS EKTOS DV TOV OMYy®V OLULOVAEVT], OVK
avéyovrau (contrasted with below)

s \ b \ ~ 2 -~ 4 e\ -~
otav ¢ gis ouUPoLANY TOAMITIKNS APETHS 1WOaLV, NV OEL

S1a SikauoovVNS TACAY 1Eval Kl CoPpocdvs,
SIKOTOMS AMAVTOS OAVSPOS AVEYOVTOL, AS TOVTL
TPOCTIKOV TADTNS Y& USTEYEWY TiS QpeThs 7 11 sivou
noleis (very forceful and epigrammatic conclusion...)

(Y4 o 4 4 2 7
avtn, @ ZOKPOTES, TOLTOL AUTIAL.

17




F374

Question Answer/indicative content Mark Guidance
b What is Protagoras arguing here, and how does| 25 | Answers must be marked AO1=10
Plato’s presentation help to clarify what her says? using the level descriptors in | Level 5 9-10
the AO1 10-mark marking Level4 6-8
Candidates may well combine following through the grid and the AO2 15-mark Level 3 4-5
argument with commenting on how it is reinforced, or do marking grid at th(f‘\ en_d ofthe | Level2  2-3
the two things separately, mark scheme, taking |nto_ Level 1 0-1
account QWC when placing
X . .. the answer within the band. AO2 =15
Protagoras and Sokrates are discussing whether apetn is Level 5 13-15
teachable or not. Protagoras says that the practice of Candidates may well Level 4 9-12
punishing wrongdoers shows that it is: combine following through Level3 6-8
we don’t punish people because they have done wrong, the argument with teve: % g-g
eve -

but so that they won’t do the same thing again, and to put
others off doing it;

so it is a deterrent (and if it works, by implication people
can be taught apet, since they can be taught what sort of
things not to do);

so the Athenians, and others who do the same, are right to
admit everyone to debates on matters where dpem] is

needed, as opposed to some specialist demiurgic skill: and
in doing so they show that they believe it is teachable.

Some significant points below: candidates need not refer
to all, and may well use other ones.

\ ’ o ’ \ kd ~ 14
70 KoAQlev, @ LOKPATES, TOUS AOIKOVVTAS Tl TOTE
Sovarau, avTd og Sidater S ol ys dvBpwmor 1yobvTal
TOPACKEVOACTOV EIVaL GPETTV.

9 \ \ 7’ \ kd —~ \ ’ \
oVdEls yap KoAaLel TOUS AdIKOLVTAS TPOS TOVT® TOV
VoDV Exwv kai Tovtov Eveka, ot NdikToEY, donis U1
wonsp Onpiov dAloyiotws TiHwPsITAL”

commenting on how it is
reinforced, or do the two
things separately.

18
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Question

Answer/indicative content

Mark

Guidance

3 \ \ 7 E —~ ’ k] —~
0 8¢ ueTa Aoyov emyepov KOAALEY oL TOL
TopeAnALOOTOS EveKa ASIKTIUATOS TIHMPSITAL - OO YOP
N / \ 9 ’ Id 2 \ -
av 10 ye apayOsv ayevnrov Ogin - aria oL
uérrovros yapiv, iva un avbis aduknon uite aTos

T ’ b4 e -~ P \ 4
ovTOS UNTE aAAOoS O ToLTOV dWV KoAaoOEvTA.

\ ’ 7’ 24 -~ \
Kl TooTnV Siavolay Exmv Siavositon moSevTnv
givon gpetnv-
drotporils yobv &vexa koralet.

Tadtnv odv v 8o&av mavies Eyovorv Sooirep
- \ 4 ’
Tu®PoLVTOL Kol 19ig Kod Snuoaoia.

Tipwpovvror 8¢ Kai koAalovtar ol t€ dAAotl avOpwmor
oUs Av olwvral Adikelv, kai ody fkiota. ABnvaior ol
ool moAltar

[ 4 \ —~ \ 7 N -~ 7 b —~
dote kata TodToV TOV ASYyov kai Afnvaiol giot Tdv
1yoVUEVOV TOPAOKEVATTOV EIval Kol SIOaKTOV

b

apeTv.

DS UEV 0DV EIKOTMS Amodéyoval ol ool moAlTal Kol
yaAkéms kod okvTOTOUOL cupPovAgbovTos Ta moltkd,
Kol 611 SIBaKTOV KOl TAPACKEVACTOV TjyODVTOUL GPETIIV,
arodédeiktal ool, d EOKPOTES, IKAVDS, OS Yé Lot
daiveral.

19
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Marking grid for AO1 (10 marks)

AO1:

Recall and deploy relevant
knowledge and
understanding of literary,
cultural, material or historical
sources or linguistic forms, in
their appropriate contexts

Max mark and
mark
ranges

Characteristics of performance

Recall and application of subject knowledge;
Relevance to question/topic;

Understanding of sources and evidence;
Awareness of context.

Level 5

9-10

Specific factual knowledge, selected with care;

Fully relevant to the question;

Well supported with evidence and reference where required;
Strong awareness of context as appropriate

Level 4

Generally well chosen factual knowledge;

Relevant to the question;

Usually supported with evidence and reference where required;
Awareness of context as appropriate

Level 3

Some factual knowledge, not always well chosen;

At least partially relevant to the question;

Some supporting evidence and reference where required;
Limited awareness of context.

Level 2

Restricted selection of factual knowledge, possibly including some inaccurate detail;
Little evidence of relevance to the question;

Occasional use of appropriate supporting evidence;

Context occasionally or very superficially indicated.

Level 1

Work in this band may meet some of the criteria for Level 2, but on balance falls below the standard
defined for the higher level; alternatively, work in this band will be too inadequate, inaccurate,
inappropriate or irrelevant to justify any credit in a higher level.

20
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Marking grid for AO2 (15 marks)

AO2:

(a) Analyse, evaluate and Max mark and Characteristics of performance
respond to classical sources | mark ranges

(b) Select, organise Analysis;

and present relevant Evaluation and response;

information and argument in Organisation and use of technical vocabulary;

a clear, logical, accurate and Control of appropriate form and style;

appropriate form Accuracy of writing.

Level 5 13-15 Perceptive, well supported analysis leading to convincing conclusions;

Very well balanced evaluation based on clear engagement with sources/task;

Argument incisive, very well structured and developed; technical terms accurately and effectively
used,

Sustained control of appropriate form and register;

Legible, fluent and technically very accurate writing.

Level 4 9-12 Careful and thorough analysis leading to generally sound conclusions;

Balanced evaluation based on clear engagement with sources/task;

Argument well structured and developed; technical terms accurately and effectively used;
Good control of appropriate form and register;

Legible and technically accurate writing, conveying meaning well.

Level 3 6-8 Attempts at analysis leading to some tenable conclusions;

Limited evaluation but some evidence of engagement with sources/task;

Argument coherent if cumbersome or underdeveloped; some technical terms accurately used;
Limited control of appropriate form and register;

Legible and generally accurate writing, conveying meaning clearly.

Level 2 3-5 Occasional evidence of analysis gesturing towards acceptable conclusions;

Very limited evaluation or evidence of engagement with topic/task;

Argument coherent even if very cumbersome or underdeveloped; simple technicai terms used
appropriately;

Very limited control of appropriate form and register;

Legible and generally accurate writing, clarity not obscured.

Level 1 0-2 . Work in this band may meet some of the criteria for Level 2, but on balance fails below the standard
' defined for the higher level; alternatively, work in this band will be too inadequate, inaccurate,
inappropriate or irrelevant to justify any credit in a higher level.

21
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There are no separate weightings for AOs 2a and 2b but, in assigning a mark to AO2, examiners should focus first of AO2a — ie bullet points 1 nad 2
— to decide the appropriate Level. They should then consider the evidence of QWC to help then decide where within the Level it is best to locate the
candidate’s mark. Other evidence, for example a stronger showing on the analysis than on the evaluation strand of AO2a, will also inform an
examiner’s decision about where to locate the mark within the Level. \

¢ !

22
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